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HE A HE A% HE A
gy 77 7K 23,200 |& 23,200 464
TILT7 7oLk (Bhp) 1,600 |& 1,600 32
L Lk ZIEA 14,700 | & 14,700 294
L bbb 1,680 |& 1,680 56
RiF/N> 450 | B 450 -
EhFE E 43,280 [#% 180 - 19,800 - 23,300 -
wELD FEHLEBLD 18,456 | 12,304 - 6,152 -
FEBLABLD 81 |V vs 81 -
KABEBLD 102 |#& 102 -
AKANBEBLD 52 |y 52 -
wE ML ®E ML 366,000 |[=]5 244,000 - 122,000 -
PALY bR=—n— A Ly pR—/— 4284 |& 4,284 -
A IR A ABAS (20.5¢m, 74 L) 18,144 |# 18,144 -
®KEF T vy (MY A X) 500 | & 500 -
Ty vy (LY 4 X) 500 |& 500 -
AV MEE Y b (BER) 1,281 | 1,281 -
Sy bRy b () 1,276 |#% 1,276 -
Ty— 733 | 733 -
Eas FLIO—LTy b (EE) 300 |{@ 300 -
I 137 |{& 37 -
SELT b (EWS EYEAL) 12 |F&8 12 -
INRZF I 16 |%8 16 -
B & ho5—RT—v 12,000 |f& 12,000 -
N7—TF—7 12,000 |{& 12,000 -
oy~ 29,000 (1@ 19,000 -
B (\rvL) 26,000 |# 16,000 - 10,000 -
/28 (fKm) 18,000 | 18,000 -
FryffHmtEY 2o (100) 1,020 |1& 620 -
EE ML Y=oy —vER 8,080 |# 4,080 -
FZgo Y- ER FREy b 80 | 80 -
24y b L CREAD 15 |1& 15 -
TI——bF [T—=Y—F 1,650 |#& 750 -
MHFLE HELIE 50 |1 50 -
Ry XML 25 |1& 25 -
A w/N 1,300 |# 1,100 -
AR E = A 250 |1& 250 -
R EEH 57 |{@ 57 -
b2 e bE i\ 1,000 (1@ 1,000 -
A 200 (4 200 -
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